BudouKIANIIKUYD
BudadUKIATIIKUY
DIE LOCATING

Tugoo

9
®
=
o
0
2y
g- Disappearing Disappearing Disappearing Disappearing Disappearing Side Side Gauge
Name Gauge Gauge Gauge Gauge Gauge Gauge (Cam Type)
Model 25SODA-BT 25SODA-B 25PKDGM 25SODA-RT 25PRDG 25SGAD 25SGCT
Page 115 116 17 118 119 120 121
S 3 U I PP
= e
g &l Sl
Panel Input Panel Input Sheet Support Sheet Support Nest Guides
Name Detector Gauge Detector Gauge Gauge Gauge Rough Guides (Upper Die Relief)
Model 25HKFM 25PADG-B 25SSGNW 25SSGW 25SRG / 25SRG-R / 25SRG-L 25SNGU
Page 122 123 124 125 126 127
. & < LLL
Nest Guides Configurable Configurable
Name Nest Guides (No Dowel Hole) Nest Guides Nest Guides (Economy)
Model 25SNGN / 25ENGB 25SNGG 25SNGA / 25SNGC 25SNSTA / 25SNSTC / 25STSTD
Page 128 129 130 131
4 Ei=<H
Length Configurable Special Configurable
Name Nest Guides Nest Guides Nest Guides Blank Parts
Model 25SNGNX / 25SENGX 25SNGW / 25SNGWK / 25SNGWS 25NBB / 25NBBC / 25NBBCL / 25TE(A,B,C,E,L)
Page 132 133 134
/.r'.f.h'
Name Nest Guide with Surface Support Locating Pilot Pins
Model 25SNTFA / 25SNTFB 25SLTL / 25SLPS / 25SNST / 25SDST / 25SDKL / 25SKSTH / 25SFSTH / 25PST / 25PSTM / 25RFPP
Page 135 135 - 139
Name Locating Pilot Punchs Locating Pins
Model 25RTP / 25T-RTP / 25RTPE / 25T-RTPE 25DIKPA / 25DIKPB / 25DLPA / 25TLPA / 25TLPB / 25TLPC / 25LPU / 25LPL
Page 140 141 - 142

1 1 3 %UN RISE Tel: +662-324-3184-(89) Fax: +662-324-3190 / +662-324-3103
Website: www.sunrisegr.com Email: sale@sunrisegr.com

technologies



Die Locating Components
.ﬁL-

Push Pin Sets J

i1

Pre-Holding
Name Locating Pins Push Pin Sets (Economy) Push Pin Sets (Long Stroke)
Model 25IKPD(A,B,C,E) 25S-PAP(-U) 25S-PAP-E(U) 25SD-PAP-(S,U) / 25SD-PAGP-(S,U) o
Page 142 143 144 145 =
©
(8}
[l n 5
I -
. Y
] w i = o
Name Push Pin Sets (Lock Mechanism) Push Pin Sets (Air Hole) Pushing Pin Sets
Model 25SD-PAP-Z-(S,U.P) 25SD-PAEA-(S,U) 25S-PSPH / 25S-PSH
Page 146 147 148
Name Push Out Pins Drawing Jector Pins Skid Brackets
Model 25POP / 25HPOP 25DHPA / 25DHPF100 25STB / 25STBY / 25MRTB / 25MRTBY
Page 149 149 150

Tel: +662-324-3184-(89) Fax: +662-324-3190 / +662-324-3103 %
Website: www.sunrisegr.com Email: sale@sunrisegr.com UN RISE 1 14

technologies



~

BUdduKIATIIKUD
I Disappearing Gauge - ftatna

swaladuuy aaans OF OIL FREE™
Oil Free™ sliding type

Model: 25SODA-BT

6-914 @@(@\ ;@@ /@

© o

=
[5)
p
o)
O
QO
=
>
(@]

i

o &b ¢
45
50
100
130
&
i

|
20 |
45
70

O ©
A o

B A A
<‘9 ©

N
o

1422 114

L1 90

(mounted by customer)

-
-
Pre

5| H
e M M i e
. iRt .
] 1 T T
[ [ Jl 2
o 2-M12 P1.75 15 s | T s |
Counter bore ¢17.5 (Travel)
No. ‘ Description ‘ Qty ‘ Material and Remark No. ‘ Description ‘ Qty ‘ Material and Remark
1 Base Plate 1 SS400 9 Spring Washer 4 For M10
2 Cover Plate 1 SS400 10 Washer >
3 Silde Plate 2 SS400
1 Lock Nut 1 U Nut
4 Silde Plate 1 S45C Oil Free Type
12 Dowel Pin 4 P10 X 30
5 Collar 1 SS400
13 Spring Pin 1 P6 X 15
6 Arm 1 SS400
7 Hexagon Socket Head Bolt 4 SCM435 M10 X 50 & Hexagon Socket Head Bolt 4 SCMA35 M8 X 16
8 Hexagon Socket Head Bolt 2 SCM435 M12 X 25 15 Air Cylinder 1 CA2L40 by SMC

[el>p]==8 Model S
2GVILEN >5SODA-BT100

Weight (kg)
50 220 265 90 25 135
100 270 315 115 45 15.9
25SODA-BT
150 320 365 140 95 18.3
200 370 415 165 145 21.0

Tel: +662-324-3184-(89) Fax: +662-324-3190 / +662-324-3103
1 1 5 %UN RISE Website: www.sunrisegr.com Email: sale@sunrisegr.com

technologies



Die Locating Components
I Disappearing Gauge - Atatna

OF OIL FREE™

Model: 25SODA-B

6-99 >
c
) e}
Sl o3 1,1k
— :U 1 — ] L[:LTK @\F [ A — 3
) @ wlo 1ﬁ F4 ol 8 9
© < |0 70 E © 2 a
_ = r — ! [ @
‘ ‘ — /A | V[]] L |
201 L1 ‘ L1 120 15
L 70 o
98.5
%\ 82+S 40 25 /@@
@ HHa =HE ‘j J/®©
- - L
T ] - el
— & -] o ' Gauge
o I LT Y = (mounted by customer)
2 B - e e
ey jacss
0 T T e ’_/ |
o an t I aRL :
- L L1l I AT ,‘7777‘77
63 b ams/ | Lo hd S
‘ (Travel)
No. Description Qty Material and Remark No. Description Qty Material and Remark
1 Cover Plate 1 FC250 7 Hexagon Nut 1 For M14
2 Arm 1 SS400 8 Hexagon Socket Head Bolt 4 SCM435 M8 X 20
3 Cylinder Head Block 1 SS400 9 Hexagon Socket Head Bolt 2 SCM435 M12 X 20
4 Silde Plate 1 S45C 10 Spring Washer 4 For M8
5 Split Plate 1 SWRM10 @3 X 45 " Angle 1 SS400
6 Air Cylinder 1 CA2B40 by SMC 12 Angle 1 SS400

[el=1p]= Model S
[2EVILEN >550DA-B100

Weight (kg)
50 220 90 25 mne
100 270 15 45 185
26SODA-B
150 320 140 95 16.0
200 370 165 145 18.7

Tel: +662-324-3184-(89) Fax: +662-324-3190 / +662-324-3103
Website: www.sunrisegr.com Email: sale@sunrisegr.com

Q®UN RISE 116

technologies



BUdduKIATIIKUD
I Disappearing Gauge - ftatna

Model: 25PKDGM OF OIL FREE

140
25 100
50 4-011
= 2-M10
o S0 &
o
O
< Yol oo 18
=) (PRI f
< w ol 1Ly A o3
o< o\ O 2w
e e | &

\2-g1 0 +0.015

+0

30 6

oy Rear gauge head return end

V (mounted by customer)
M20xP2.5

I
To) ‘ 24 40
~ |
JI - _®
L lp==1 s
T lam
o L IEata 2
© ‘ T o~
)
L] B 8@
T v
— |
0 ‘L— ‘ -J Lo
o} ‘ ‘ [ 3
% I | ‘
No. ‘ Description ‘ Qty ‘Material and Remark 5 ‘ ‘ | ‘ |
= Q \‘ ! ‘ 2-Rc1/4
1 Base Plate 1 $5400 5 @ U i w
e 7]
2 Guide Post 1 STKM £ ql ‘ ¥
5 | i
3 Bushing Holder 1 SS400 + I» ‘
o ! |
) ‘ Copper Alloy N r__
4 Oil Free Bushing 2 ) ) N
with Graphite 5:’ 9@@ | i
5 Air Cylinder 1 MBBA40 by SMC ‘ ‘ &
! Lo
6 Collar 1 STKM ‘ ‘
|~
7 Flat Washer 2 For M20 ‘ \@ ED®
8 U Nut 1 SCM435 M20 g
Hexagon Socket T \@
10 Head Bolt 4 SCM435 M10 X 25 @30
" Elbow 2 21SPLL10-02PT g48.6
12 Spring Washer 4 For M10
[e]>1p]==8 Model S
13 Cotter Pin 1 @5 X 40 EXAMPLE 25PKDGM100
Model ‘ Cy"”deé AL ‘ H ‘ Weight (kg)
100 340 6.7
25PKDGM 150 390 71
200 440 7.4

Tel: +662-324-3184-(89) Fax: +662-324-3190 / +662-324-3103
1 1 7 sUN RISE Website: www.sunrisegr.com Email: sale@sunrisegr.com

technologies



Die Locating Components

I Disappearing Gauge - Atatna

OF OIL FREE™

Model: 25SODA-RT

210
140
90
21 189
o)
15 2
S
[daDh) & 9
NECE 9
8§88 | g 8 o
a&D T o
(1 ’ Q—p P

I
5
ol
|
ol
<t
*A
10,
1 7 ~
(B[O ©
~ N
612 NN
©
o5 |
1s) .
2-RC1/8 /
No. Description Qty Material and Remark ORDER [RECEC S
2GVIRES >5SODA-RT100
1 Gauge Base 1 S50C
Model ‘ H
2 Stopper Plate 1 SS400
75
3 Gauge Bracket 1 S50C
100
4 Joint 1 S50C
125
5 Arm 1 S50C
150
6 Cylinder Support 2 S50C 25SODA-RT
175
7 Rod 1 SS400
200
8 Joint Pin (S) 3 S45C
225
9 Joint Pin (L) 2 S45C
250
10 Stopper Pin 1 SCM435
1 Air Cylinder 1 CM2U32-35AZ by SMC
12 Hexagon Socket Head Bolt 6 SCM435 M8 X 25
13 Washer 5 For M8
14 Split Pin 1 @2 X 16
15 Split Pin 1 @3 X 30

Tel: +662-324-3184-(89) Fax: +662-324-3190 / +662-324-3103 %
Website: www.sunrisegr.com Email: sale@sunrisegr.com UN RISE 1 1 8

technologies



=
o)
p
o)
(9
QO
=
>
(@]

~

BudoUuKIANIIKUYD

I Disappearing Gauge - ftatna

OF OIL FREE™

Model: 25PRDG

40
- 30 2-M12 Depth 25
20 4-13
|
o _Ho—dh . o
o 8 ,i,i,ﬂrﬂ'{ \/\”'\\\‘» h‘IJ‘r,i,i,
e 23 &e| o/ _]-U 23
D D
8 | T~
|
180
220
-
D
¢}
_ ‘ < [
30)| ! —
ee@s | 2
| <
N~ ~—
H/ ‘@ ! ~ =
n
L |
B 3
=
I I
‘9 Eq i
T 2-Rc1/4
10 118
No. Description Qty Materrial and Remark No. Description Qty Materrial and Remark
1 Base Plate 1 SS400 9 Bushing 1 255MB012-020
2 Cylinder Support 2 SS400 10 Air Cylinder 1 CA2T40-50Z by SMC
3 Gauge Bracket Support 1 S§S400 1l Hexagon Nut 1 M20 X 15
4 Gauge Bracket 1 S8400 12 Cotton Pin 4 3X18
5 Joint 1 S35400 13 Hexagon Socket Head Bolt 4 SCM435 M12 X 40
6 Joint Pin 2 S45C HRCB5~60 14 | Hexagon Socket Head Bolt 1 SCM435 M10 X 35
7 Turning Lock Plate 1 SPPC T=0.8 15 Washer 4 For @12
8 Bushing 1 255MB012-020 16 Hexagon Socket Head Screw 1 M4 X 6
Model L
ORDER Model L
2R O5PRDG275
25PRDG 275

119 QUN RISE

technologies

Tel: +662-324-3184-(89) Fax: +662-324-3190 / +662-324-3103
Website: www.sunrisegr.com Email: sale@sunrisegr.com



I Side Gauge - lustna

6

7

@5ﬁw¥§?
| W‘}\ |
[l

80

Description
Base Plate
Silde Holder
Guide Plate
Gauge Plate
Pusher Boss
Air Cylinder

Hexagon Socket Head Bolt

4

Die Locating Components

Model: 25SGAD

OF OIL FREE™
A 7.2
B C
5
20 30 4338 4311 Drill

130

102
55
30

J-1-F

64

SS400

FC250 with Graphine

Bronze with Graphite
(SO#50 SP2)

S$S400

S45C

CQ2L40 by SMC
(Special oder Cylinder)

SCM435 M10 X 45

8 Hexagon Socket Head Bolt 2

9 Hexagon Socket Head Bolt 4

10 Spring Washer
" Spring Pin
12 Split Pin
13 Spring Washer
14 Washer

4

20| F F 5
G E
Cylinder Travel S
- ®1314
= A\
2 ] 30 8
(2  2-Rc1/8
‘ |
1 [ _ —
T A - —————— o]
‘ - 3 ®/ LIS Ut N e ——— .
(RN NN
| R bk — N
I e el 1 | ] = [2a]
| i T 17 T |
L Lt 1 L
o~ 6
J K
Materrial and Remark No. Description Qty Materrial and Remark

SCM435 M10 X 35

SCM435 M6 X 16

S25CD For M6
@8 X 40
@4 X 30
For M10

For M10

[=]p]== Model

S-H

2GR ©5SGAD5S0-75

Cylinder Travel

S

W@anA1 H winfAasnaueiuina
Choose H for gauge attachment

30

25SGAD 50

75

75 163
100
150
00 183
250
500 248

50 60 15
50 80 15
65 100 20

60 30 92 100 435
80 30 92 100 63.5
115 35 122 130 985

Tel: +662-324-3184-(89) Fax: +662-324-3190 / +662-324-3103
Website: www.sunrisegr.com Email: sale@sunrisegr.com

QUN RISE 120

technologies

o)
c
£
«
8]
o
3
9
(@]




udourK1dKuUv
I Side Gauge (Cam Type) - laisitna JuszuuwAN

Model: 25SGCT OF OIL FREE

4-914 2-®10H7
1540 180 85

5 75 75 15 45

) ; ; h |

= \ 7 \ R

o

(@]

(@]

()

= 3

3 4 2

8 2 ? &

”
el

s
4o ° o T
Ao ke | R
Tide= T[] 7T e
e ~ e o olc) | g

e i
115 | 20 \2-9®10H7- @12

I R— 120
920
50 N o 2-Q10H7* | |, 014 |, 63
T [ [
(Travel) %0 * 1 1 !
7 N5/ 30 30 15 l‘ | | ‘J 2
y [ |
T 1T 1T .
, s bl
f -
= k \ I \ g
| £
" il JF [~ Ty 1 =1
o T =il = -
[ e
Ll | /
@/ é 25
®
@
15 170 75 T
T
60
Description Materrial and Remark No. Description Qty Materrial and Remark
1 Base 1 FC250 8 Spring 2 19SF30-65
2 Silde 1 FC250 with Graphine 9 Hexagon Socket Head Bolt 4 SCM435 M10 X 25
3 Driver 1 FC250 10 Hexagon Socket Head Bolt 2 SCM435 M8 X 20
4 Upper Plate 2 SS400 M Set Bolt 1 SCM435 M6 X 10
5 Spring Stopper 1 SS400 12 Split Pin 1 SUJ2 @6(me) X 30
6 Spring Guide Pin 1 SS400 13 Washer 2 For M8
7 Gauge Plate 1 SS400 14 Washer 1 S45C
o]z{p]=Izf Model S -H Spring
2GR °5SGCT220-150
Initial Load (N) Final Load (N)

W@anA1 H sinfAasniaueiuina
Choose H for gauge attachment

150

220 200 168.66
250
258GCT 141.4 685.3
150
300 200 248.66
250

121 %UN RISE Tel: +662-324-3184-(89) Fax: +662-324-3190 / +662-324-3103
Website: www.sunrisegr.com Email: sale@sunrisegr.com

technologies




I Panel Input Detector Gauge - szuutFAuNULAAN

Hard chrome plating

Die Locating Components

OF OIL FREE™

Die Locating

Models:
25HKFM-L (Left Hand)
25HKFM-R (Right Hand)
[0}
. 1<)
uinwanguaninlasunsaasluing E
Both models’s panel contact are Lg
hard chrome plated N
© |
i il =
777 a2
Dieface | ' '
A - A section
85 L=
60 0
Yo}
N . o
i
linws
A ~ Qi
mslﬂamwﬁ . 5 o I
Switch mounting e | L1 - 33 -
T T HT] ~ — —
(32) P
FaN: ) WY
ﬁ: =~
t 29 3-C5 I
67
|
No. Description Qty Material and Remark
1 Gauge 1 SS400 Hard chrome plating No. Description Qty Material and Remark
2 Detection Lever 1 SS400 Hard chrome plating Proximity Switch (for AC) (1) E2E-XBY1-56M by Omron
3 F Link 1 SS400 " Proximity Switch (for DC) (1) E2E-X5E1-5M by Omron
4 R Link 1 SS400 Proximity Switch (for EC) Q)] 1G0348 by EFECTOR
5 Collar 1 S45C 12 Hexagon Socket Head Bolt 2 M10 X 25 (Accessory)
6 Pin 1 S45C 13 Flat Washer 2 For M10 (Accessory)
7 Hexagon Nut 2 For M8 14 Shim Ring 2 T=02
8 Washer 1 For M8 15 Round Head Screw 1 M4 X 8
9 Spring Washer 1 For M8 16 Cable cilp 1 uc-1
10 Hexagon Socket Head Bolt 1 M8 X 40 17 Flat Washer 1 for M8
[e]ap]=30 Model L - Switch Type
Model L Switch Type L1
25HKFM-L100-AC WEER TP
S AC (24 - 240V) %
25HKFM-L 100 DC (24V) 30
25HKFM-R EC (EFECTOR Connector)
150 SN (without switch) 80

Tel: +662-324-3184-(89) Fax: +662-324-3190 / +662-324-3103
Website: www.sunrisegr.com Email: sale@sunrisegr.com

QUN RISE 122

technologies



BudoUuKIANIIKUYD

I Panel Input Detector Gauge - szuutdAuduLAan

Models:
25PADG-BL (Left Hand)
25PADG-BR (Right Hand)

wrhwwanguaninlasuisaasluing

OF OIL FREE™

o Both models’s panel contact are 9
o hard chrome plated
5 0 [ | PSS
O ~ F=o
o n 0
= i 2
> gy iy < o
«Q i ©
B} \ 0
1 (4 <
g N ~
)]
«
Panel contact surface ;l
Hard chrome plating (10~30 pum) = N,
(Plated)
M+1
10 60 10
80
0
30 50
o
7 T
11y | T 407
/) @11 H
| /® I
s < 4 @
/ N
Y il M—
=
T T T T T T
i S AN )
Welding 6 Welding
AssaaIng No. ‘ Description ‘ (€13Y ‘ Material and Remark
Switch mounting
(@) Body of front gauge 1 SS400
(32)
A A 3—'_\_Hﬁ @  Panel detection lever 1 SS400
4 HE——
® Lever Pin 1 S45C
L 1 L 1 @ Support Plate 1 SS400
® Snap Ring (C Type) 2 -
Proximity Switch (for AC) (1) E2E-X5Y1-5M by Omron
®
Proximity Switch (for DC) = (1) E2E-X5E1-5M by Omron
Model L - Switch T -M i
ORDER e Switch Type Model L Switch Type ol (2l
2GR >5PADG-BL100-AC-M10 M
75
25PADG-BL 100 AC (100V) M10
25PADG-BR DC (24V) M2
160

123 %UN RISE Tel: +662-324-3184-(89) Fax: +662-324-3190 / +662-324-3103
Website: www.sunrisegr.com Email: sale@sunrisegr.com

technologies



Die Locating Components

I Sheet Support Gauge - @ndnwain

OF OIL FREE™
Model: 25SSGNW

o)
c
—
«
8]
o
3
9
(@]

85

—
40

50 (Clearance of upper die) 10[10/12

80

R50

35 y

o

20

T

12 20‘ °

' © ®

! @

o«
o
-
H

95
80
110

[e]x1p]==8 Model H
2GR ©5SSGNW145
Model H No. Description Qty Material and Remark

25SSGNW 145 (D Gauge (with base) 1 SS400
@ Support Plate 1 S45C
® Hinge Pin 1 S45C with retaining ring

Tel: +662-324-3184-(89) Fax: +662-324-3190 / +662-324-3103 s
Website: www.sunrisegr.com Email: sale@sunrisegr.com UN RISE 124

technologies



udourK1dKuUv
I Sheet Support Gauge - @ndwwasin

OF OIL FREE™
Model: 25SSGW

=)
(0]
2
(@]
(e)
=
=
«Q
85
50 2-R10
— \ | E——
OF ~
=5
o | =
SEEEi==- =1
S o
PR~ .
(=5 I

13
B
Bl

—hO
7
o
s | —
© 2-M8
\) -
[Te) /
T
2 @ ) s
| %
© [ \i I —
25/ ®@
(119)
[el>p]==l Model T - L
2GUIRES ©5SSGW120-20
Model ‘ T ‘ L No. ‘ Description ‘ Qty ‘ Material and Remark
90
@ Gauge 1 SPC
120 20
25SSGW 70 @) Support Plate 6 SPC
150
180 @ Support Point Hinge Pin 1 S45C
1 piece Is assembled
@ Collar 5 SGP ( A%iece‘are accompanied )
® C Type Retaining Ring 2 For @6 shaft
@ Support Plate Model ‘ L ®  Hexagon SocketHead Bolt 2 |SCMA435 M12 X 30 (Accessory)
(O]3{p)3 Model T 20
Wash 2 For M12
PESSGW_P20 S5SSGW-P @ asher or (Accessory)

40

Tel: +662-324-3184-(89) Fax: +662-324-3190 / +662-324-3103
1 25 %UN RISE Website: www.sunrisegr.com Email: sale@sunrisegr.com

technologies




I Rough Guides - lasuuulsitau

y

Model: 25SRG
LEINTINAY
Center Type

Die Locating Components

OF OIL FREE™

Model: 25SRG-L
[ERT Tt
Left Hand Type

Model: 25SRG-R
LEIRIUTIN
Right Hand Type

38 4-C1 38
4-C1 29 4} ] 4-C1 29
o
| | g o = | | g
¥ Af,,\ko-l PR A o,
2D =G e
< o
o[ C—C—told« g CD .
G ﬂ
N d L qeo
29 19
) 38
View A View A View A
[ View A
C1
300
L Guide
R50
T Welding
- —
= )
2
N\ o
T
o1 Welding
@D Welding

T]os[A

)z 01z Model D-L-F-H-M
2R o5SRG-R18-100-20-50-M10

Mounting plate

@ @ S45C (vd1 / rod)
@ 5400

5mm increments

8
10
25SRG
25SRG-L 12 60 ~ 300
25SRG-R
16
20

F
6
M10
10 - 50 o 80 M12 60 40 20 10
F<L-50
©
M10 75 | 5O | 25 |125| 16

Tel: +662-324-3184-(89) Fax: +662-324-3190 / +662-324-3103
Website: www.sunrisegr.com Email: sale@sunrisegr.com

Q®UN RISE 126

technologies

o)
c
£
«
8]
o
|
9
o




udourK1dKuUv
I Nest Guides (Upper Die Relief) - waslng

Model: 25SNGU OF OIL FREE

1105 A'i y a3
30°
o T ;
= /®GU|de
— |
o
. R6O | x ”
=
Q - R10| c3
T Bolt 8-20X
A ;
a) Welding (All around)
I
TTTTT
L ©
Lojr T T J_ T
@ S 5\®Mounting plate
Model: 25SNGU Model: 25SNGU-R Model: 25SNGU-L
40
. 19
N + +
2-C3 N— ‘“‘DD [ @‘_ S
. . ~
pa A o N A
T ET O 8¢ 5 >l .8
- : N
T —— - ‘ ‘ © L
e i 2 { i
19 19
40 40
Model: 25SNGU-RN Model: 25SNGU-LN
40
‘ ‘ 19 ‘
N ~
o (1 e = D
| | i J
E N4 9 s
=y e =l
Q
= o O«
Lie] '
40
o]alp]=zf Model L -H-S-X-Y-M @ @ S45C (alng / guide)
IR o5SNGUT05-30-60-20-65-M10 @ ss400
5mm increments ‘ Mounting
X v Bolt
M
25SNGU 75 - 100 35 - 60
25SNGU-R vio
25SNGU-L 105 - 150 20 - 40 50 - 100 20 - 70 65 ~ 110 Vo
25SNGU-RN
25SNGU-LN 156 - 200 115 ~ 160

Tel: +662-324-3184-(89) Fax: +662-324-3190 / +662-324-3103
127 %UN RISE Website: www.sunrisegr.com Email: sale@sunrisegr.com

technologies



Die Locating Components

I Nest Guides - udadlng

OF OIL FREE™
-Reinforced type- -Economy type-
(@)
=
30° . 300 . ©
I Guide T Guide 9
o
(/CD //® E
R60 o
| N R60
17_| Bolt8-20 17
T Welding (All around T Welding (A” around)
A } } A
J L I | |
T I \ || @
e GINIE o T
15 é) . 15
A Mounting plate @ «—J éMounting plate

45 55
2
o 278 7 =2
22 2.C3 30 o~ <
T

1 e 2 =
2-C3 = < A2 /@ O
7 [s¢]
N | N 2-07.8 15 0| v
% o ol D18 o, 8"
e 1\\4“ —| BN 2-97.8 8l e - 3
@7 \Ya ~N
| S =t |2
| | | | 2:C3 30 ~
1o | [IEN 32
40 40 55
Reinforced 25SNGN 25SNGN-R 25SNGN-L
Economy 25ENGB 25ENGB-R 25ENGB-L
TSN TeN] wuulszndn
Reinforced Type Economy Type
0]z{p]=Iz Model L -H-S @ @ $45C (tanlng / guide) o]a{p]=zf Model L -H-S @ @ $S400(1nd / guide)
2R O5SNGN100-30-M12 @ s5400 DCVILR >5ENGB100-30-M12 @ s5400
‘ 5mm increments ‘ Mounting ‘ 5mm increments Mounting
Bolt Bolt
‘ L H ‘ M L H ‘ M
25SNGN M10 25ENGB M10
25SNGN-L 65 ~ 200 20 - 40 M12 25ENGB-L 65 ~ 350 20 ~ 40 M12
25SNGN-R 25ENGB-R

Tel: +662-324-3184-(89) Fax: +662-324-3190 / +662-324-3103 s
Website: www.sunrisegr.com Email: sale@sunrisegr.com UN RISE 128

technologies



BUuddIUKIAIIKUD
I Nest Guides (No Dowel Pilot Hole) - uaslng

 Model: 25SNGG _S . o OF OIL FREE
| R5
(D Guide

N Bolt 8-20

I [1r]  Welding (All around)

1|1 OI
LO# \r H\ s A
15 é@
@ 1 Mounting plat

=
[5)
p
o)
O
QO
=
>
(@]

24
Model: 25SNGG Model: 25SNGGC Model: 25SNGGC-R
4-C3
32 4-C3
32 4-C3 PZA— 4[/7
— I75) e
R%QI Tt ol ©
R5/
SI [ ©) 3|2 +—+ -
32 Q™
+—+ e {HIHH]
17 11.5 I o

Model: 25SNGGC-L

17
Te]
D
Y]
N
)
[(e]
= o]
(o]z{o]=lz9 Model L -F-S @ @ S45C (uanlng / guide) 32
GIHE >5SNGG100-50-15 @ s5400
Model L F S
10mm increments
60 20 - 50
80 20~ 70
100 20 - 90
25SNGG
SEeNGGE 120 20 - 110 5
25SNGGC-R 20
meNGeCL 140 20 -130
160 20 - 150
180 20 - 170
200 20 - 190

129 %UN RISE Tel: +662-324-3184-(89) Fax: +662-324-3190 / +662-324-3103
Website: www.sunrisegr.com Email: sale@sunrisegr.com

technologies



Die Locating Components

I Configurable Shape Nest Guides (Reinforced) - wasing wuudsuussls
OF OIL FREE™

o)
c
£
«
8]
o
|
9
o

Model: 25SNGA Model: 25SNGC
I | Dovice . | Dcuice
. ]
5 Welding (All around - ﬂ/ Welding (All around
SLPNT T I SEIE

* & \@
115 |15 _
A \@ Mounting plate @ Mounting plate

32 19 Y ap7s
- 2-07.8 = :
2.c3 2 | 39 | < 2-C3 J 1 1
A Y g | m——
© + i(a\\ e N of < © N [ ol o
- \\A \‘—‘LG} —| N - NS - =
‘ = o
45 |
107 45
100 81
75
o]2{p]=Iz Model L -H-M @ @ S45C (uanlng / guide)
2R ©5SNGA100-30-M10 @ s$5400
‘ 5mm increments ‘ Mounting
Model Bolt
L ‘ H M
25SNGA 65 - 200 20 - 40 M10 / M12
25SNGC 65 - 200 20 - 40 M10

Tel: +662-324-3184-(89) Fax: +662-324-3190 / +662-324-3103 s
Website: www.sunrisegr.com Email: sale@sunrisegr.com UN RISE 130

technologies



Buneoson a1g

BudouKIAIIKUL
I Configurable Shape Nest Guides (Economy) - tudstng suudsuussle
OF OIL FREE™

Model: 25SNSTA

/®Guide

45 39
17 Welding (All around 2.C3 32

[ el o —— 1%
| £ A
,1_5J \®Mountlng plate 107

+1
N
S
~
(o]

100
Model: 25SNSTC
30
.//@Guide 81
\ R60 45 19 -
32 é 2-¢7.8
171 Welding (All around 2C3 | G{
W s SR
—J \ \ H|ﬂ L= o+
| [
_1_5_J \®Mounting plate 75

Model: 25SNSTD

30°
T
| -®Guide
} \R60 74
T 42 19
4 2-C3 [ 32 “jé »7.8

| L \j < +:F7 - - Gﬁg
L‘I_SJ \®Mount|ng plate LL‘

(O]z{p]=Izq Model L -H-M @ @ $S400 (kg / guide)
IR o5SNSTA100-30-M10 @ s5400

‘ 5mm increments ‘ Mounting
Model - Bolt
L H M
25SNSTA 65 ~ 200 20 ~ 40 M10 / M12
258SNSTC
SESNSTD 65 ~ 200 20 ~ 40 M10

1 31 %UN RISE Tel: +662-324-3184-(89) Fax: +662-324-3190 / +662-324-3103
Website: www.sunrisegr.com Email: sale@sunrisegr.com

technologies



Die Locating Components

I Configurable Length Nest Guides - waslng wuuisuussanuanle

OF OIL FREE™

(@)
=
®

(&)

o
—
9
=)

Model: 25SNGNX Model: 25SENGX
RIICAITEN] RUUUTEReR
Reinforced Type Economy Type
% Guid =
uide Guide
T T
.//@ //<D
I\ R60 Bolt 8-20 R60
- . —
. N Welding (All around) - Welding (All around)
3 | 3
i1 T 1 w|ﬂ T 1 N|E{
ST l L e e N Ll
BEE T1s
A ,&J Mounting plate A Mounting plate

32 by 2-97.8 32 ¥ 2-97.8
= =

© ™ It +ﬁ7{+jiit\l<r ©f _ _ a - ’éiiiv
= = | A @,;, N A T | A O N

i C‘ Y | |

2c3 B 30 B 2Ly B 30 | s
A A
@ @ S45C (tan'lng / guide) @ @ SS400 (1alng / guide)
@ ss400 @ ss400

[olxp]==f Model L -H-M
2 GVIRESE O5SNSTAT00-30-M10

B B Mounting
10mm 5mm Bolt
Increments Increments M
25SNGNX o
2BSENGX 65~ 200 20 -40 100 ~ 200 35<B<A-50 i

Tel: +662-324-3184-(89) Fax: +662-324-3190 / +662-324-3103 s
Website: www.sunrisegr.com Email: sale@sunrisegr.com UN RISE 132

technologies



~

BudoUuKIANIIKUYD

I Special Configurable Nest Guides - tuaatng wuuUSuwaAsRLAL

OF OIL FREE™

9
(0)
=
§ Model: 25SNGW Model: 25SNGWK Model: 25SNGWS
=4 sudfuanuning uiSuynurulng Juitmzua (392U10)
= Wide Config Type Angle Config Type Notched Guide Type
- 30 Guide T ke Guide 307 Guide
/® -
1A Reo B HK e B R60 A
S
s 1
| |- S . R5;
T 17 Bolt 8-20 0 17 | Bolt8-20 X 47 | Bolt8-20
0 e A
I Welding (All around I Welding (All around > N Welding (All around
I [ [
|1 [ [
1 I

S IE SN SR
8.5 *J_ﬁ é@Mountingp\ate ’ ‘ 8.5 é)Mouming plate

@ Mounting plate @

*S 2 10+Hxtan K°

A (Center type) BR (Right hand type) BL (Left hand type)
30 15 40

10.5 2-97.8 2-C3 o~ 10.5 19
Y a4
I

[

|

o 2-07.8 {EE%’*'% o]0 2-97.8 é}

el \ ‘—I 3 )
o8 09

10
M+1
m

23

(o3

39
55
75

75
10]_23_

b x et ol | \

+ =

2]: TiT E}: ‘ ‘ | l |
o 10.5 19 2:C3 15| «
20 40

o]z{p]=zf Model L -H-S-K-X-Y-M @ @ $45C (uanlnd / guide)
DEUWUESY >5SNGWBR100-30-50-M12

@ $5400

Mounting ‘ 5mm increments ‘ Mounting
Orientation ‘ L H s ‘ B'\OA“
A (Center Type) M10
25SNGW BR (R Type) 65 ~ 200 20 ~ 40 35 ~ 100 M2
BL (L Type)
Mounting 5mm increments Mounting
) ) Bolt
Orientation H s M
A (Center Type) 30 M0
25SNGWK BR (R Type) 65 ~ 200 20 ~ 40 35 - 100 1B <K<60 M2
BL (L Type)
Mounting ‘ 5mm increments ‘ X ‘ Mogglttmg
i i 1 i i 5 i t
Orientation ‘ L H s ‘ mm increments mm increments M
A (Center Type) 30 M10
25SNGWS BR (R Type) 65 ~ 200 20 ~ 40 35 - 100 X<S-22 Y<L-H-15 M2
BL (L Type)

Tel: +662-324-3184-(89) Fax: +662-324-3190 / +662-324-3103
1 33 %UN RISE Website: www.sunrisegr.com Email: sale@sunrisegr.com

technologies



Die Locating Components

I Nest Guides Blank Parts - dudau waslng

~ OF OIL FREE™
r}Fj m -
2-C2 0.C3
T=16
©
30° =
2-C3 T 0 g
: = T (]
H (&)
| S
I 30¢, [}
- R60 . 2
25NBB: $S400 @ sssc
25NBBC: S45C -
R60
s S
[e]=]p]=>@ Model T-S-L-H o)1)=l Model T-S-L-H
2R 25NBB16-50-100-30 R 25NBBCL16-50-100-30

Thickness L ‘ ; ‘
Model S H Model Thickness

10mm increments

T 5mm increments ‘
12
32 25NBBCL 16 50 200 ~ 350 20 ~ 60
25NBB
16 50 65 ~ 200 30
75 40
100
25NBBC 16 4 .«
25TEC
75
2-¢7.8 2-07.8

40

2-97.8 ! | ]
'c}: {+ ! t

26
42
N
S

25TEA E}

10

@ s4sc

2078 Y] Vodel T -d
EXAMPLE [ESNSINTRE!

Model Thickness d
T
= — LoI ol o "
o v — | M~
N3 — 2
i,l (IT 6_—% OBTEA 13
59 25TEL © 25TEB 1
15| 30 16 5
60 !
12 "
L 25TEC
S — g - A
25TEE 12 "
25TEL 16 13

Tel: +662-324-3184-(89) Fax: +662-324-3190 / +662-324-3103 s
Website: www.sunrisegr.com Email: sale@sunrisegr.com UN RISE 134

technologies



udourK1dKuUv
I Nest Guide with Surface Support - wwasing wuuinsinduedaning

OIL FREE™
2, — oF

o
<
o R30
o Panel contact face \
! Hard chrome plating (10-30 pm) A
= Weldin
o) lated
8 (p ) 6‘ 38 4-C1
= e Model: 25SNTFA ‘ 29
Q P .,, : < \\ I — P
Lifinnsguiia N ; ,Q: i -
- i i —
@ 55400 Non-Hard Chrome Plating Weldin L
o e . =~ o
Model: 25SNTFB rs) [—— IJ° Q ©
finnsuiia } S
Hard Chrome Plating } o N
Yy |-
16 *
A =
25
34
[elxp]=28 Model L -M L Mounting Bolt
25SNTFA100-M10 Yol 5mm increments M Type
25SNTFA laiqufia / non-plated
75 ~ 160 M10 / M12
26SNTFB Tuila / plated

I Locating Pilot Pins - Indanfiudansiunis

OF OIL FREE™

« () 25SLTL6 & 25SLTLHE = 2

* * %
<01 5 $35 « () 25SLTL6 & 25SLTLHE > ¢2.5
MxP °
S R1 ﬁ\
B B / ‘ Tip shape of
i R i
03
F Bo (S) S
(@) 25SLTLH: (S) = 1.6 x P
(Ol3(p]53) Model P -B SKs3
WS 25SLTL10-10 37 - 43HRC
Model: 25SLTL 2114 P A Model: 25SLTLH fwuaauia P waz B 14
Fixed P dimension Config P and B
P B
Model P B MxP F S Model . . MxP F
0.01 increments| 1 increments
6 5x0.8 8 6.00 ~ 8.00 5x0.8
510 12 10 12
8 6x1.0 10 8.00 ~ 10.00 6x1.0
9 6x1.0 12 12 10.00 ~ 12.00 8x1.25
10 25SLTLH 5~560
10 10 15 | 8x1.25 14 12.00 ~ 14.00 10x1.5 15
15
258LTL 12 10x1.5 15 16 14.00 ~ 16.00 12x1.75
14 15 20 16.00 ~ 20.00 16x2.0 25
15 20 12x1.75
15 15
17
16 20 25 12x1.75
20 25 30 | 16x2.0 25 20

135 ®UN RISE

technologies

Tel: +662-324-3184-(89) Fax: +662-324-3190 / +662-324-3103
Website: www.sunrisegr.com Email: sale@sunrisegr.com



Die Locating Components

I Locating Pilot Pins - lndanfiudansiunis

OF OIL FREE™

Relief groove *
5

C<0.1
MxP -
N 4 ES)

( A\\ Tip shape of
) y ® 25SLPS

I~ * %k g)
©»3.5 =
F T2 Bi° (S) S S
(o]
o Detials of undercut -
R0.5 L
- (a]

MOLLEY:
= (1) 25SLPSH: (S)= 1.6 x P « (1) D8 > @25
1 S

ORDER Model D-P-B-T SKS3
2GRN >5S PSH10-9.05-10-10 37 ~ 43HRC

Model: 25SLPS wua P anasn Model: 25SLPSH fwunwuia P B waz T 16
Fixed P dimension ConfigP Band T
P B T
Model | D | MxP | F | P | B | T | S Model D : , , MxP F
0.01 increments | 1 increments | 1 increments
8 6x1.0 12 6 3 10 8 6.00 - 8.00 6x1.0 12
10  8x1.25 15 8 B 10 10 8.00 ~ 10.00 8x1.25
5
13 10 15 13 10.00 ~ 12.00 15
25SLPS 12x1.75 15 25SLPSH 5-~60 3-~15 12x1.75
16 13 17 16 12.00 ~ 14.00
20 16 10 10 20 20 14.00 ~ 16.00
16x2.0 25 16x2.0 25
25 20 25 25 16.00 ~ 20.00

C0.5
Mx2 .
7 S R1
=,
— j — — — L
+0.3 +0.01
B0 (S) P
@ ©-16xP
(O]sp]=lz§ Model P -B SKs3
2 GUIHEN °5SNSTH10-9.05-10.5 60 ~ 63HRC
Model: 25SNST 2u1a P masa Model: 25SNSTH fwunauia P uas B 16
Fixed P dimension Config P and B
P B
Model ‘ P ‘ B MxE 0.01 increments 0.1 increments
6 4x0.7 6 6.00 ~ 7.00 4x0.7
10 15
8 8 7.00 ~ 8.00
5x0.8 5x0.8
10 10 8.01 ~10.00
15 20
12 12 10.00 ~ 12.00
258SNST 25SNSTH 10 ~ 80
13 13 12.01 -~ 13.00
20 30 6x1.0 6x1.0
15 15 13.01 ~ 15.00
16 30 40 16 15.01 ~ 16.00
20 40 50 | 8x1.25 20 16.00 ~ 20.00 8x1.25

Tel: +662-324-3184-(89) Fax: +662-324-3190 / +662-324-3103 s
Website: www.sunrisegr.com Email: sale@sunrisegr.com UN RISE 136

technologies



~

BudoUuKIANIIKUYD

I Locating Pilot Pins - Indanfiudansiunis

OF OIL FREE™

Mx2 Relief groove $0.01
S
o5
o & = . % l 2%
o e \ 7)) e
3]
QO
%‘: @ Detials of undercut
+0.3 +0.3
Q C0.5 L +0 B+o S
R0O.5
1 -
ol3ip]=ag Model D -P-B SKs3 -/ °
DEVILESY >5SDSTH10-8.05-3.1 60 ~ 63HRC
Model: 25SDST 2114 P aasa Model: 25SDSTH fwuaauia P uaz B 14
Fixed P dimension Config P and B
Model D g6 MxP P P E MxP
g 0.01 increments | 0.1 increments
8 5x0.8 6 6 8 6.00 ~ 7.00 3.0~200 5x0.8 6
-0.005 15 -0.005 15
-0.014 -0.014
10 6x1.0 8 8 10 7.00 ~ 9.00 3.0 ~30.0 6x1.0 8
10
25SDST 13 8x1.25 10 20 12 25SDSTH 13 9.00 - 12.00 8x1.256 20 12
-0.006 -0.006
-0.017 -0.017
16 10x1.5 12 17 16 12.00 ~ 15.00 3.0 ~50.0 17
~0.007 24 o0 10x15 24
20 20020 12x1.76 16 20 | 15 20 0020 16.00 ~ 18.00 20
@ 25SDKL10 > @2
25SDKLH10 > @2.5
. *
E Relief groove ®»3.5
5
S
> R1 T
© D‘(\l S
< co
[m) D ¥
N it o
10 o Detials of undercut
C0.5
+0.3 +0.3
20 +0 B +0
ol3{p]=ag Model D - P -B SKs3
DENILESY >5SDKIH13-7.05-5.1 60 ~ 63HRC
Model: 25SDKL 1114 P angsa Model: 25SDKLH fwuaauia P uaz B 14
Fixed P dimension Config P and B
Model D g6 °
g 0.01 increments 0.1 increments
-0.005 -0.005
10| Hom 6 10 0014 6.00 - 7.00
3.00 ~ 30.00
13 8 13 7.00 ~ 9.00
-0.006 10 -0.006
-0.017 -0.017
26SDKL 16 10 25SDKLH 16 9.00 ~ 12.00
20 12 20 12.00 ~ 15.00 3.00 ~ 50.00
-0.007 -0.007
-0.020 -0.020
25 16 15 25 15.00 ~ 20.00

Tel: +662-324-3184-(89) Fax: +662-324-3190 / +662-324-3103
1 37 %UN RISE Website: www.sunrisegr.com Email: sale@sunrisegr.com

technologies



Die Locating Components

I Locating Pilot Pins - lndanfiudansiunis

Model: 25SKSTH 6F OIL FREE™
Mx2 C<0.1 Relief groove
C<0.5 S

] >/ 2 / \ -

s = 1 , J @ Tl e g

o = KK// o o Detials of undercut -§

S

L2 o)

+03 +0.3 /\ a

L +0 B+o S

ela{p]=2f Model D - P -8B Sks3
SN 255KSTH10-15.05-2 60 - 63HRC

P B
0.01 increments 0.1 increments
8.00 - 8.99 8
5 1.00 - 12.00 3 12
ooon 9.00 - 10.00 10
0012 10.00 - 10.99 10
6 1.00 - 15.00 3 12
11.00 - 12.00 12
12.00 - 12.99 15
8 1.00 - 15.00 4 15
25SKSTH 0008 13.00 - 16.00 17
0014 14.00 - 14.99 17
10 1.00 - 20.00 5 15
15.00 - 20.00 20
16.00 - 16.99 20
13 1.00 - 20.00 6 20
oom 17.00 - 20.00 25
16 18.00 - 20.00 1.00 - 20.00 8 24 25
Model: 25SFSTH
C<0.1 Relief groove ©0.01
[A] =
o, .
,l’ &/ R1 -
© H S
c co
- b - FF
o o

5 - ® Detials of undercut

+0.3 +03
(S)

L +0 B +o
@M (s1-16xP

ola{p]=2f Model D - P -8B SKks3
2GS o55FSTH10-15.05-2 60 - 63HRC

P
0.01 increments 0.1 increments

4 4.00 - 8.00 1.00 - 12.00

12
+0.012

5 oo 5.00 - 10.00 1.00 - 12.00

6 6.00 - 12.00 1.00 - 15.00
15

25SFSTH 8 oo 8.00 - 14.00 1.00 - 15.00

10 +0.008 10.00 - 16.00 1.00 - 20.00
20

13 oo 13.00 - 18.00 1.00 - 20.00
16 +0.007 16.00 - 20.00 1.00 - 20.00 24

Tel: +662-324-3184-(89) Fax: +662-324-3190 / +662-324-3103 s
Website: www.sunrisegr.com Email: sale@sunrisegr.com UN RISE 138

technologies



BudoUuKIANIIKUYD

I Locating Pilot Pins - Indanfiudansiunis

) o:002 OF OIL FREE™
Doo2 _. 93 R<0.3 S+o R10 0007, 1]
r—.ﬁ
N
9
)
o
+0.3 +0.3 0.01
2 L +0 B +0 Pl
=3
=}
@
ORDER R Model D L e B S
SGILNR >5pST5-15-7.05 0.01 increments
SKS3 1 12 150 ~ 3.00 4
60 ~ 63HRC 1
2 250 ~ 4.00 B
3 4.00 ~ 6.00 6
12
4 5.00 ~ 7.00
25PST 15 2 7
5 6.00 ~ 8.00
6 7.00 ~ 9.00 8
8 15 9.00 ~ 13.00
3 9
10 18 11.00 ~ 16.00
o 403 +0.012
D002 3 R<0.3 S+0 R10 D +0.007 A
ST -
Model: 25PSTM f§ _
- f HH
/ &J
Mx2 /
+0.3 +0.3
L+0 Blo || 2 P
lo)=1n]==) Model D-L-P Vodel 5 . P 5 S v
ISCILNN >5PSTMS-15-9.05 ode 0.01 increments
SKS3 5 12 6.00 ~ 8.00 7
60 ~ 63HRC 5 2 3
6 7.00 -~ 9.00 8
25PSTM
8 9.00 ~ 13.00 4
15
18 3 9
10 11.00 ~ 156.00 )
Model: 25RFPP 13 R30
" /
R)
~ 538 -
e 30°
SH~o [ /
‘ 7003 Model D H L R P
. 5w
30
oRDER ICEEIE = I 32 35 90 5 295
EXAMPLE [Rels{=l==l=lcls) L 45 48 110 8 445
SK3
55HRC ~

Tel: +662-324-3184-(89) Fax: +662-324-3190 / +662-324-3103
1 39 %UN RISE Website: www.sunrisegr.com Email: sale@sunrisegr.com

technologies



Die Locating Components

v
a

I Locating Pilot Punchs - lwdannudaansiunus

OF OIL FREE™
max35
13
————— | ot :
= T +F — 1 — — =
= .
0.03
53001 S
Model Material Coating .
a5
25RTP SKD11 = 60 ~ 63HRC - L :05
Details of O
25T-RTP = SKD11 60 ~ 63HRC = 3000HV
R10 R30 P A f Cmin
—f‘/ 20° 2624 5
straight porr?(i?gf f 307 3.950 6
B dimension C min S
B 40° 5.967 8
max35
13
/ R10
of o
w5 %%ﬁ—: e
T s
51007
Model ‘ Material ‘ Coating ’
25RTPE | SKD11 = 60 ~ 63HRC - L z05

256T-RTPE  SKD11 60 ~ 63HRC  3000HV

[e]z{p)=>@ Model D-L-P-B-S-A
2GR 25RTP13-100-P10.05-B30-S10-A20

L P B S

Tmm increments | 0.01 increments | Tmm increments | Tmm increments

25RTP 10 6.00 ~ 9.99 13

13 6.00 - 12.99 16

J— 16 8.00 - 15.99 10-50 20 19
25T-RTP 70-200 20-100 S<B - Cmin 50

20 11.00 -~ 19.99 = ' 45 23

25 16.00 ~ 24.99 28

25RTP 32 18.00 ~ 31.99 35

L P =} S

1mm increments | 0.01 increments | 1mm increments | Tmm increments

25RTPE 10 6.00 - 9.99 13

13 6.00 - 12.99 16

J— 16 8.00 - 15.99 . 20 19
e RTPE 70 - 150 10 - 60 S<B .o 30

20 11.00 - 19.99 = 45 23

25 16.00 - 24.99 28

25RTPE 32 18.00 - 31.99 35

Tel: +662-324-3184-(89) Fax: +662-324-3190 / +662-324-3103 s
Website: www.sunrisegr.com Email: sale@sunrisegr.com UN RISE 140

technologies



~

BUdduKIATIIKUD
I Locating Pins - Audanf1urs

OF OIL FREE™

R<1.5 C3 15
/ 6.3, | |
| o /\ ORDER [USEES)
Model: = - - g EXAMPLE IESIOINC
25DIKPA Y
L & Model D e9 H F L
= @ s4sc o . 20|
= 0.1 Deo
© 25DIKPA 60 | 990 1 49 170 180
- -0.134
(@]
(@]
=
=3 R<1.5 c3
«Q - 6.3,
Model ‘ D e9 ‘ H ‘ F ‘ L
Model: T - -
25DIKPB 50 99 60 145 155
N 25DIKPB :
@ssc 1o F <0 0,060
; Des 60 | 200 70 170 180
S/ &

&(ﬁ - — — 7ﬁ Model D h7 L R d | dl | H

Model:
25DLPA

N
T
Py
o
o
N
w

25DLPA 25 56 " 12

s4sC o
40 - 45HRC 0025

<2 cL/_
\O{/****j"*****\*** Model D h7 L R d
-1 ——— -1 7°
==t ———— = 0
25TLPA 20 0.021 45 3 105
Model: Dh7 3—»# #——3
25TLPA 20
S45C 57.5
40 ~ 45HRC

Model D h7 L R d | dl | H L

d
22

-0.021
Model: Di | 3] 25TLPB 106 175

o5TLPB H | 20 32 | oo 65 5 24 10

S§45C L
40 ~ 45HRC

8 M12 [A]
()
0:/ : R \f,\
- Ny (VA H7 . Model D h7 DIh7 | L | R |d|b
o = — ° 0 0
Model: 26TLPC | 20 25 44 1 3 105 21
-0.021 -0.021 :
25TLPC 33 F
s45¢C 20 b-o2
40 - 45HRC L

Tel: +662-324-3184-(89) Fax: +662-324-3190 / +662-324-3103
141 sUN RISE Website: www.sunrisegr.com Email: sale@sunrisegr.com

technologies



Die Locating Components

I Locating Pins - fiudanf 1w

™
oroer NG OF OIL FREE
2GUIRRS 25 PU32-30

15°

Model: . Model D h7 L I | d|dl|H
25LPU | -

[ 0 (@)

25 o om 12 9 14 N =

R1 30 =]

H ©

30 O

I 25LPU 32 15 | 11 175 13 9

L:g.a 0 35 ©

-0.025 35 ra)

40 18 14 | 20 15

40

[el>p]==f Model D
EXAMPLE Jelsl=lNel
Model: S
o)/ \31 Model D h7 D1 h7 L|B|d|dl | H
25LPL \( H
I | L I |

1 0
s A s 20 o 25 ooy 40 20 9 14 T
-0.021
H 25LPL 25 32 50 25 11 175 12
B+8.3 0
i
03 32 og25 40 0025 70 35 11 175 24
S45C L+0 -
40 - 45HRC

I Locating Pins - iudansiunils
OF OIL FREE™

Model: 25IKPDA Model: 25IKPDB

R<1.5 Rs1.5

6.3

@45
|
N
©

10 L 05 25 n

Model: 25IKPDC

10 | L +0.5 50 D

Model: 25IKPE

R<1.5 R<1.5

63

|50

ﬁ))

®55

10 L 05 5 H

[e]xp]=> Model D - L L
Model D )

ISCVILEN o5 KPDA30-150 5mm increments

@ s4sc
25IKPDA o
265IKPDB 30 Iy 110 ~ 200
25IKPDC
25IKPE 45 -01 110 ~ 200
-0.2

Tel: +662-324-3184-(89) Fax: +662-324-3190 / +662-324-3103 s
Website: www.sunrisegr.com Email: sale@sunrisegr.com UN RISE 142

technologies



~

BudoUuKIANIIKUYD

I Pre-Holding Push Pin Sets - ﬁﬂw%f“[aaﬁm"ﬁﬁu

) Model: 25S-PAP  Model: 25S-PAP-U OF OIL FREE

danananniian Uanaginu
Steel Tip Urethane Tip
2 dowel pins (P13 and P16)
6 @\— —
= e A
() Ny  Tip : SKD61
g " . :7\7 — N e ] 08, 3
o0 =1 - - o
© &l = H* - &% s
= S o — —L T -
= H —]
& LU S— ST (Stroke)
1 G1 *Stroke ST is determined by
[— the selection of L and FL.
{ 4 ST G
15 H S
L
(®Mounting flange 2 dowel pins (P13 and P16)
2-¢d 8 0
+ =)
M1 s Urethane Tip a
o T \b—‘ 5 =3
: = _ )01 _
E= | o
5 — 1 |
U ST (Stroke)
' "*Stroke ST is determined by the seléction of L and FL.
S
0]0]6) @ $5400 ® @ SWP-A
® Oil Free™ Bush @ @ S45C
® @ sKps1 + Nitrile Coating @ urethane (490)
lol1p]={=f] Model P -S-L-H-FL 40 ~ 50HRC
IR o55-PAP16-150-220-190-200 900HYV -~ (surface)
L
10mm 10mm
increments increments
100 20
125
13 150 150 ~ 250 O<H<L-20 152 272 22 20 10 22 20 15 Me| 9 70 B2 40 N
200
200 250
100 90
125
150 150
16 200 150 ~ 350 O<H<L-20 ;Z)g 34 27 25|10 26 25 20 M8 12 80 60 B0 | 1
250 290
300
300 350
253-PAP
253-PAP-U 100
1
50 90
175
250 200
260
20 300 180 ~ 500 0<H<LL-20 300 (427 32 30 12 33 30 25 MIO 15 | 90 70 60 13
360
3650 400
425
500
450
500

Tel: +662-324-3184-(89) Fax: +662-324-3190 / +662-324-3103
143 %UN RISE Website: www.sunrisegr.com Email: sale@sunrisegr.com

technologies



Die Locating Components

I Pre-Holding Push Pin Sets (Economy) - ﬁﬂw%Iﬂaﬁqwmﬁu

I ™
¢« Model: 25S-PAP-E Model: 25S-PAP-EU OF OIL FREE
Uananininiian Uanag3ny
Steel Tip Urethane Tip

2 dowel pins (P13 and P16)

==
< ;‘D & (Tip : SKD61)
[N = 4 ) 3 o
C

&

@\7
=%

A

v

o)
c
£
«
8]
o
|
9
o

gl =—_"] - —
o  —  — P I
. M 10 ST
— S
15 H
L
(®Mounting flange 2 dowel pins (P13 and P16)
2-¢d
% / M1 @ (Urethane tip ) E
a [+ — s
: _ e B O] _
il Fﬁﬁ | pIE!
M6 — 11— [
A1 b—‘r’—J U
A U4 ST
S
10]016) @ $5400 ® @ SWP-A

® Oil Free™ Bush
@ @ SKD61 + Nitrile Coating
40 ~ 50HRC
900HV ~ (surface)

@ @ s4sc

@ urethane (A90)

.,

Urethane

[e]z{p]="8 Model P -ST-H
2GVIHEN >5S-PAP-E16-50-90
H Case Pushing Pin Mounting Flange
1mm ' S E— S E—
A Al

increments Ut M1 n

Initial | Max

Spring
Constant | Load | Load
FL

N/mm ‘

B | d (kgf/mm)

D‘[MRU

N (kgf) ‘ SICE

0.63

50 0-95 90 (0.064) 60 70 115
0.32 78 | 392
13 100 0-~170 272,10 22 20 15 20 Me 9 70 | 52 | 40 | 11 | 175 0.033) ©08) (4.0 110 120 190
0.21
150 0~ 250 270 (0.021) 160 170 270
0.80
50 0~100 90 0.082) 60 75 120
0.39 9.8
100 0-~175 175 (0.040) (1.0) 4o 110 125 195
16 34 10 26 25 20 25 M8 12 80 60 50 1 5.0)
0.26 .
150 0~ 255 270 0.027) 160 175 275
0.20 88
200 0~ 330 350 0.020) 0.9) 210 225 350
0.95
50 0-~110 90 0.097) 60 80 130
0.48
100 0~ 185 175 (0.049) 05 110 130 205
20 150 0~260 |427 12 33 | 30 25 30 MI10| 15 90 | 70 60 13 | 260 02 o o 160 180 280
’ (0.033) (6.0)
0.23
200 0~ 340 330 0.024) 210 230 360
0.20 88
250 0~410 425 0.020) 0.9) 260 280 430
Tel: +662-324-3184-(89) Fax: +662-324-3190 / +662-324-3103 s
Website: www.sunrisegr.com Email: sale@sunrisegr.com UN RISE 144

technologies



guddouKIGMKLY
I Pre-Holding Push Pin Sets (Long Stroke) - ﬁﬂw%Iaaﬁqvg%ﬁu
OF OIL FREE™

wuuaU3S RUUAUIN + UIRTNAAD
Spring Type Spring + Dead Weight
Uanawmaniniien
Steel Tip Model: 25SD-PAP-S Model: 25SD-PAGP-S
danagFinu
Urethane Tip Model: 25SD-PAP-U Model: 25SD-PAGP-U

=
o)
p
o)
(9
Q0
=
>
«

2-@13

(A0 Presser

I plate
Jans \ M
N\ i*\ a6 ¥
L 80 1
100
@100 @49
oW @427 oW @427
I ¢ il g :
ally r= alls: r=
T~ /4 l M~ ﬁ |
! e ! ! S
L) T ] (| S fife
! i | Stopper 1 i |
| |
l' L] | [ [ ." L] | [ [
= = | =g =
oM l oW l
\\\ | \\i
: |
R[] | [ |
‘ il ‘ l
i m I !
©\_z | IfiE) _Ez_ LE] | i} _E:_
S S —— O [ 1] s m——
1 -0.1 e | -0.1
@\ I © @40-03 ] © @40-03
K P I MA10 ®\7QE [ S M10
) ,ﬂﬂﬁ A | 255D-PAGP-S @ 9 «
= 25SD-PAP-S o /@ 25SD-PAP-U QL:: /® (s45C) | = /@
S B (8450) g < (Urethane) gl P & - | ¥ 255D-PAGP-U
~ < (Urethane)
@22 N_R30 @22.4 @22 N_R30 sz.g
00000 @ ssi00 ® @ vrethane 420
S45C 10 @ @ sce © @ swr-A
Urethane 15 ® @ s4sc @ @ s4sc
[e]=Ip]=2@ Model ST-H - 55HRC ~
258D-PAP-S200-200 (Induction Hardened)
H Spring Constant ‘ Initial Load ‘ Max Load ‘ Weight
1mm increments| N/mm (kgf/mm) N (kgf) (9)
200 90 - 260 (0062299) 08 3350 312
25SD-PAP-S 0'26 a1
26SD-PAP-U 220 90 ~ 290 e ' 3800 338
(Spring Type) (0. )
024 67
25SD-PAGP-S 250 90 - 310 (0.024) 8.8 (6.9) duzo | I
25SD-PAGP-U 022 0.9)
(Spring+Dead Weight) 270 90 - 340 (0_622) 4180 390
0.20 6.9
00 90 - 360 (0.021) 0.7) e | 4

Tel: +662-324-3184-(89) Fax: +662-324-3190 / +662-324-3103
145 %UN RISE Website: www.sunrisegr.com Email: sale@sunrisegr.com

technologies



Die Locating Components

I Pre-Holding Push Pin Sets (Lock Mechanism) - ﬁﬂw%Iﬂaﬁqw%ﬁu

OF OIL FREE™
danennaninilan
Steel Tip Model: 25SD-PAP-Z-S
Uanag3ny
Urethane Tip Model: 25SD-PAP-Z-U -
daraunn Model: 25SD-PAP-Z-P §
Pad Tip odel: _PAP-Z- ;
)
2
2-013
Tip:Steel
— @5x25
— ®\ ®\ ®\ Spring pin 4}
. = , :
C':i 1 \\\: :/’ ﬁ J O( i 8 ﬁ‘N\ E 8
§ HA P . LJ ._R30 >o | &%
7 12 @/L sl 20 {}
L S
‘\‘\\ Tip:Urethane

Lock groove

W W R (=gt
wJ 0 ] UJ Q [ g |
N i | [to)
Spring pin L—> S
B S 15/.30 | §
50 35 57
Steel Urethane Pad '
‘ Tip ‘ Tip Tip 92
f 285 385 805
DO @ ss400 ® @ swr-a
® Oil Free™ Bush @ S45C
® @ sKpsisNitrile Coating ® @ Urethane (490)
[e]=]p]=> Model No-ST-H 40 - 50HRC @ NBR
2GR 25SD-PAP-Z-S20-100-120 900HV (Surface)

25SD-PAP-Z-S
(Steel Tip)

258D-PAP-Z-U
(Urethane Tip)

25SD-PAP-Z-P
(Pad Tip)

ok

‘ Spring Constant ‘

Initial Load ‘ Max Load ‘

90

140

190

240

290

s |

100 150
150 210
200 285
250 355
300 415

ST ‘ 1mm increments ‘ N/mm (kgf/mm) mgf)—m’m‘ L
0 0150 (0%8980) ?44.1'51)
o | 0-180 0050 601
20 150 0~ 265 (0963323) 0 ?590?
=00 0739 (0%2289) ?55.'?)
280 039 (0%2244) E(55%‘69)

Tel: +662-324-3184-(89) Fax: +662-324-3190 / +662-324-3103
Website: www.sunrisegr.com Email: sale@sunrisegr.com

QUN RISE 126

technologies



guddouKIGMKLY
I Pre-Holding Push Pin Sets (Air Hole) - ﬂqﬂw%Iaaﬁqwmﬁu
- OF OIL FREE™

Uanannaniniian

Steel Tip Model: 25SD-PAEA-S

UanagFinu

Urethane Tip Model: 25SD-PAEA-U

=
o)
p
o)
(9
QO
=
>
(@]

2-¢d
2-MS3-6 Tip : Steel
®\ ®\ \ / /@ 0
_ ~ jS
o I =
: - - - —lo i\
n L@ g —
N
M/ g . s
15
— 10 ST ‘
\ 15 \ H S B
L
Tip:Urethane
2-MS3-6
M1 o
S
S = sl i =l
’: | ‘ _L qu, _ S
—— |
U
51| Ui ST
QG @ ss400 ©®Q (@ Urethane (A90)
® Oil Free™ Bush @) Air Quick Fitting Joint
® @ skosi+Nitrile Coating
(O]3{p]3q \odel P -ST-H 40 - 50HRC
Ll 25SD-PAEA-S13-100-100 900HYV (Surface)
Pushing Pins ‘ Mounting Flange Pressing Load N (kgf)
d |0.3MPa|0.4MPa|0.5MPa Urethane
50 0-~80 60 70 100
412 b49 | 66.7

13 100 0~130 27222 22 20 15 20 9 M6 135 70 52 40| N 42 66  (6.8) 110 120 150
150 0 ~180 160 170 200
50 0-~85 60 75 105
100 0-~135 110 125 |155

63.7 834 | 103

16 34 26 27 25 20 25 12 M8 165 80 60 50 11
150 0-~185 (68 | (85 | (105 160 175 205

200 0-~235 210 225 235

Tel: +662-324-3184-(89) Fax: +662-324-3190 / +662-324-3103
147 %UN RISE Website: www.sunrisegr.com Email: sale@sunrisegr.com

technologies



Die Locating Components

I Pushing Pin Sets - sawufu
OF OIL FREE™

Model: 25S-PSPH
(D2B®)

T e —— R
o s —— -0
I _ = -

FL (spring)

F

(Induction hardened)

RO.2 0
. R0.2 R1 H-0.2
15 ]
Model: 255-PSH oSt—=r - - -
(®) ar
©
10 &
30_| L+0.5
C0.5 Ma2xP M1xP
. F===r T - - o~
@ (Spring case) o {f H —m— - - - o 2
20 E_IS co.5
30
Fz0.5
© @ s4sc
50HRC ~
[e]-1p]=>0 Model P -L-F-FL (Induction Hardened)
2R ©5S-PSPH10-100-150-100 @ @ Steel Tube
‘ ‘ ‘ ‘ ‘ ‘ Spring Case
Model P f6 L F FL H
‘ ‘ ‘ ‘ ‘ ‘ D M1xP E M2xP a d
8 100 13 217 | 22x15 36 16x15 7 14.3
-0.013
10 002 00 150 Eg 16 272 | 27x15 40 22x15 10 19.4
25S-PSPH 200 ‘ - - :
25S-PSH 150 260 175
13 200 200 20 32 30x15 45 24x15 10 22
-0.016 300
-0.027 250
16 300 23 34 33x15 50 28x15 12 26.2

Tel: +662-324-3184-(89) Fax: +662-324-3190 / +662-324-3103 %
Website: www.sunrisegr.com Email: sale@sunrisegr.com UN RISE 148

technologies

o)
c
£
«
8]
o
|
9
o




udouKIANIIKUYD

. cl,

Push Out Pins - waitanyiiu

OF OIL FREE™

N (n3sudn@ / Normal Shape)

_ B
L 05 dananantniiean )
Steel Tip Model: 25POP
9
© R (w3suu / Round Shape) danagunds
S Inducti . Model: 25HPOP
R=D nduction Hardened Tip
1= =
QO
= R1
@ ISl ]
L 05 ™
- %5 o3
T a
U (danagFinu/ Urethane Tip)
Urethane
M \ K T 0.2 L
I—m - a—q
| t M ? 3
E| 8 3 5 3 | 75 55 | 25 6
Lz05 0| 4|6 | 3 |9s5]| 7 | 3| 7
13 5 7 4 125 85 4 9
6 6 8 4 15 10 5 10
@]z{p]=Iz) Model Tip-D - L 25POP : S45C 20 ~ 25HRC 20 8 10 5 | 19 13| 6 13
2 GUIREE O5HPOPN20-100 25HPOP : S45C 50HRC ~ 25 10 12 5 24 | 16 8 15

Tip Shape
8 30 - 120 18
10 40 ~ 150 25 8
25POP
N 13 50 - 180 28
R
25HPOP
16 50 - 180 30
(Induction Hardened) v
20 50 - 200 35 10
25 50 ~ 200 40

I Drawing Jector Pins - watanviiudwiuenaugy

OF OIL FREE™
Model: 25DHPA

. [e]1p]=20 Model D - L
/3(‘ SR 2GR 25DHPA20-170

N
oo
I — ( Model D L
o
2 /
120
15 0.2 L
20 170
25DHPA
S45C 220
55HRC -~ 56 200
(Induction Hardened)
Model:
25DHPF100 Order Code

+
|
ﬁ
T

50

@ 55400 25DHPF100
4-C4/ 70 0.2
100 0.8
T T
o [1]] Ll

Tel: +662-324-3184-(89) Fax: +662-324-3190 / +662-324-3103
149 %UN RISE Website: www.sunrisegr.com Email: sale@sunrisegr.com

technologies



Die Locating Components

I Skid Brackets - aafinAutdau

™
Model: Model: OF OIL FREE
25STB (D+®@) 25STBY (D+®)
25STB-N (D) 25STBY-N (D)
R6.5‘ 2-913
\ I
T . ()
[HAY [ I
8E L | 8|%[] O | gt =
i (O] | 8
® 15 J‘ N |
60 © 9
120 o
’g“43'5"‘ : : (o — D Main body #r—ﬂm ity — O Main body
o,
Weldin A=9 (/)l i A=9 ‘ ‘
g \/\ /@Strut Welding i; «n /@Strut
< 1 a 14 - a A B
o } | d2 O %ﬁ 5 } i d2 = %‘T’
o) Fif Weldin gis T\nHexagon nut ol i‘ ﬁ‘ ~—_Welding Tk Hexagon nut
[co) Hexagon socket head ! ggﬁxagon socket head
& cap screw M12x25 Sy cap screw M12x25
L L

[e]x1p]== Model D-L -8
2CVILEN >5STB20-100-100

SS400
Blacken (Fe304) zggiéBN 20 33 33
S5STRY 100 ~ 300 0 ~150
256STBY-N s2 45 a4
Model: Model:
25MRTB (D+®@) 25MRTBY (D+®)
25MRTB-N (®) 25MRTBY-N (D)
o @ Main body | |_|__(DMain body
T 17T
IR
/®Strut /®Strut
a o1 o o AT o
ER et O o 4 O
—Hexagon nut M12 Key flat —Hexagon nut M12 Key flat
Hexagon socket head Hexagon socket head
cap screw M12x25 cap screw M12x25
L L
120 70
d2 75
7 36
=y N - d2
ou;iu I — R6.5 y—d‘—h A‘? mi [ \i\ ] 2-913 d1
m| Weldin F’ @ ow‘» bt ! o 7 OI m Weldingéwi 2] I 5%’
] O~ i - @ olo | o
g7 o R s g ) GEl |8l
NS [ < o
2N | N\ Ll

. ' N}
—_Welding F Q Welding 15 S
ﬁ _— 60 ° ﬂ/
P 60
[el=1p]=> Model D-L -8
RGVILER >5)\RTB20-100-100

$5400
Blacken (Fe304) ngﬂ“ﬁgBN 20 26 21 30
Py 100 - 300 0 - 160
SEMRTBY-N 30 375 | 32 40

Tel: +662-324-3184-(89) Fax: +662-324-3190 / +662-324-3103 %
Website: www.sunrisegr.com Email: sale@sunrisegr.com UN RISE 150

technologies



